(3) BEHER

RENTEREERIREARRR (B %)

SRR A5 | PR 1520 [ | TR O4F FE | PR 175 [ | Pk 1 B2E JEE | I 1 95 | P R 20 I | - B2 1 2 I | P X 20 & | T FX 20 2 [
(HERISEE) | GHERAEE) | GHESEE) | GrEm4 £5) | GHEEE) | GHENEE) | GtES25E) | GIES3EE) | GHES4EE) | GHESSEE)
(REH)I((REH|I(REH)I(RE) |GRERA)
EELAEHE (%) (Fi8) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
$ & EIRE" (%)
FIRZ R GEER) (%) 97.5 97.9 93.9 99.0 100.0 100.0 100.0 100.0 100.0 100.0
BREIZLEECGKER) (%) 98.3 97.9 93.9 99.0 100.2 100.2 100.2 100.2 100.2 100.2
ERINZ IR GEER) (%) 90.5 89.6 88.7 90.3 87.7 88.6 88.4 88.5 89.1 89.3
BERIESLEERCGKHER) (%) (FB48) 2.7 0.4 -6.9 -7.4 -7.4 -7.4 -7.4 -1.4 -14 -14
UR 28 B IR 37 e 2R (GEIEE ) (%) (FB8)
== 2z (3D
;;ﬁg%ﬁ%ggﬂ)mi (%) (FB8) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IR HIUR A 55 (%) 36.4 18.8 13.7 14.1 20.2 19.3 19.4 19.2 18.7 184
SHEEENBZAE (%) 36.4 14.8 10.4 11.2 20.2 19.3 19.4 19.2 18.7 184
F] SHEEENEAE (%) 0.0 4.1 3.3 2.9 0.0 0.0 0.0 0.0 0.0 0.0
A SEHSWAISH ETREBAZE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= S5HFRPHTAMEDLD (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e ERBRAS (%) 0.0 0.0 0.0 0.0 60.0 12.5 18.2 18.2 18.2 47.1
* SHEEENBZAE (%) 0.0 0.0 0.0 0.0 60.0 12.5 18.2 18.2 18.2 47.1
SHEEENEAE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SERFHTAMELD (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1 LROREEOEHARIIOVNTE. ROEBYTHZC &,

(1) BEFRLE (%)

7 BAKRECRGERACEOBEE=MANBIERTIEIERE1RICKYEELL-ESOTRRE (EXNE—ZFEIFHRE) X100

e

(2) #INZLEE (%) =R HBERAX100
(3) BEINZLILE (%) =RFBINE BEEEMAX 100
4) BEFERFZHE (%) = (BERE-FAITBRE) ~ (EEER-FEIEER) x100
(5) REREBEELE (%) =RBEXES (BENREFE-ZFEIBNE) x100
(6) IRZEEUIRZ LR (%) =#UNEE. (RER+HAHEEES) x100

(N FTEREBLER(RFFFLE) (%) =FREH (REFEREFRFH / (BERRHE-IFEIENE) x100

WANECEEZFEALEDSEE=AUBIEETSENEE1HICLYEELLEEOTRE (BEERE—ZFEIFHNE) x100

(8) MARLEE (%) =IHMNIRAICET 2BEHEAS (RITEXRMINAIZET 2 RASR) AIEMRA (RIFEAMIRA) x100
2 LEEEDCSS THEEUE] (X, KEEE (FHKEBEEE8T) . TEAKESERVUTKESEE (TKEBZICH > TIEERAMEURE) ITOVWTEHT I L,
(1) KEBE., TERAKEBEICRIHPEONEORE LS
- HEREIRE (%) =HHBE X HBKEREMX2x 100
X1 HREM (A m) =#KIREERBEFRKE (TERAKESECH>TITHEETEIZERDI D)

¥2 #AKERME (A/m) = (BREEA— (FRIFEFHFHEVTARKSHRE+MESEEIHERNBRAS KESZEDOH))) /FHRBREIUKE (TZERKESEICH>TITHESEEIZRDI L D)
BL., BEKEEZIZODVWTETRIZEDBDET D,

T
e

(2 FREFRIZFRLIEMHEREOREHFE X
- EAMEBURE (%) =FERBIRAEKLEEX 100

WHNECEEBACEDNSE= BEEA- (FRIFE+MHRUTASTHEM+HHEEEE+EENBRAS HRMENE) +EB/EES) FHRRBERKE
WAHRNECREFERACRDEE= REA— (FRIFE+EENRAD) +HABEES) FRHEAIKE



